N6.11.1 | Fractions

Writing recurring decimal as a fraction

non calculator

Write the following recurring decimal as a fraction. Give the answer in simplest form.

0.2=; 0.35 =2 1.2367 = 2255 _ 2471

9 99 9990 1998
x=0222.. x = 0.3535 ... x = 1.2367367 ...
10x = 2.222. ... 100x = 35.3535 ... 10x = 12.367367 ...
10x —x = 2.222...—0.222 ... 100x —x = 35.3535...— 0.3535 ... 10000x = 12367.367367 ...

_ _2 — — E 10000x — 10x = 12367.367 ...— 12.367 ...
Ix=2>x=1: 99x =35=>x = T 12355
9990x = 12355 = x =
9990

0.4 = 0.61 = 0.12161 =
0.1238 = 4,7 = 1.047 =
0.293 = 0.4101 = 5.019 =
10.5 = 0.1134 = 0.207 =
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